O KEBANBEBNUZDRZICIDAELREREZHH-REAE

@ FIFIE (HBFH2F12BXR) EEE
X 9 e KEBHE AR _ _
g £ E x i3
E & HE A gl = gl A Bl % =
& B B B 39 35 29 24 3 4 T T
X = 32 2 3 2 2 1
A8 32 10 8 8 T 1 1 1
il = 32 13 14 8 8 1 1 4 5
pal gE 3L 1 1 1 1
R B 32 1 1 1 1
R OR CRORI T 12 8 10 6 1 1 1 1
O XREANEBEUVCEORKIZEAMEERZHK -BREAE
@ FEE (FHxEI2AR) BEME
X 9 @ K KEEBHME AR
5 5 B = i3

¥ & B EA 8lg B Sl A 8l % g
Rl & B #B B 31(x32) 28 26 23 3 3 2 2
X & B
iz = B 2 2 1 1 1 1
(5 % 2 9 8 T 6 1 1 1 1
pal gE B 4 2 4 2
& 8 2 1 1 1 1
Z 0t D A K B 15 15 14 14 1 1

O (x32)[FRESt. LBHUICHTIRASZH BRSET) 14Z23T.
O WMBBECDRS. FRABFRHFZRNTNDIED D, RBEABICST EENZL.

O WMSBAETCOBRS. KB - BRFE/EL CTHEchzlL\Zen b, MY 5L L
[REAFOREHH] [CIEETESNZL.




